Bid Item	Bid Section	Bid Item Description	Unit of Measure	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price
				Electrical Engineering Engerprises		Mission Critical Solutions		Henrequez Electric Corporation		WPCS International - Sarasota		Bay Area Electric, Inc.		Florida Power Solutions, Inc.	
1.1	Conference	Conference Toilets – Demolition. Removal of existing lighting indicated on Sheet E-1.0.	1	\$1,320.00	\$1,320.00	\$14.71	\$14.71	\$1,121.00	\$1,121.00	\$300.00	\$300.00	\$1,500.00	\$1,500.00	\$1,438.00	\$1,438.00
1.2	Conference Toilets	Conference Toilets – Lighting. Type E Fixture	2	\$94.60	\$189.20	\$206.00	\$412.00	\$103.11	\$206.22	\$106.00	\$212.00	\$111.73	\$223.46	\$189.00	\$378.00
1.3	Toilets	Conference Toilets – Lighting. Type L Fixture	15	\$109.00	\$1,635.00	\$121.31	\$1,819.65	\$119.25	\$1,788.75	\$122.00	\$1,830.00	\$93.02	\$1,395.30	\$79.00	\$1,185.00
1.4	Conference	Conference Toilets – Lighting. Installation and electrical connections of all lights indicated on Sheet E-1.0, testing.	1	\$4,180.00	\$4,180.00	\$2,794.00	\$2,794.00	\$987.00	\$987.00	\$1,206.00	\$1,206.00	\$17,200.00	\$17,200.00	\$3,890.00	\$3,890.00
1.5	Conference	Conference Toilets – Provide and install control devices and power packs as indicated on Sheet E-1.0, testing.	1	\$6,360.00	\$6,360.00	\$121.93	\$121.93	\$2,315.89	\$2,315.89	\$742.00	\$742.00	\$2,200.00	\$2,200.00	\$835.00	\$835.00
1.6	Conference Toilets	Subtotal of Conference Toilets			\$13,684.20		\$5,162.29		\$6,418.86		\$4,290.00		\$22,518.76		\$7,726.00
2.1	Conference Center	Conference Center – Demolition. Removal of existing lighting indicated on Sheet E-2.1.	1	\$8,361.00	\$8,361.00	\$14.71	\$14.71	\$18,983.00	\$18,983.00	\$0.00	\$0.00	\$9,575.00	\$9,575.00	\$1,799.00	\$1,799.00
2.2	Center	Conference Center – Lighting. Type A Fixture	14	\$385.57	\$5,397.98	\$378.47	\$5,298.58	\$419.01	\$5,866.14	\$433.00	\$6,062.00	\$454.06	\$6,356.84	\$383.00	\$5,362.00
2.3	Center	Conference Center – Lighting. Type B Fixture	13	\$102.15	\$1,327.95	\$110.74	\$1,439.62	\$111.00	\$1,443.00	\$115.00	\$1,495.00	\$121.52	\$1,579.76	\$102.00	\$1,326.00
2.4	Center	Conference Center – Lighting. Type C Fixture	6	\$609.00	\$3,654.00	\$574.97	\$3,449.82	\$646.50	\$3,879.00	\$662.00	\$3,972.00	\$700.79	\$4,204.74	\$591.00	\$3,546.00
2.5	Center	Conference Center – Lighting. Type D Fixture Conference Center – Lighting.	157	\$101.00	\$15,857.00	\$110.74	\$17,386.18	\$111.00	\$17,427.00	\$114.00	\$17,898.00	\$120.33	\$18,891.81	\$102.00	\$16,014.00
2.6	Center	Type E Fixture Conference Center – Lighting.	32	\$98.31	\$3,145.92	\$105.97	\$3,391.04	\$103.11	\$3,299.52	\$114.00	\$3,648.00	\$120.33	\$3,850.56	\$95.00	\$3,040.00
2.7	Center	Type EX Fixture Conference Center – Lighting.	22	\$187.00	\$4,114.00	\$166.13	\$3,654.86	\$95.94	\$2,110.68	\$98.00	\$2,156.00	\$114.45	\$2,517.90	\$88.00	\$1,936.00
2.8		Type F Fixture Conference Center – Lighting.	71	\$125.39	\$8,902.69	\$133.82	\$9,501.22	\$135.33	\$9,608.43	\$139.00	\$9,869.00	\$146.79	\$10,422.0 <mark>9</mark>	\$124.00	\$8,804.00
2.9		Type G Fixture Conference Center – Lighting.	12	\$605.00	\$7,260.00	\$831.97	\$9,983.64	\$944.18	\$11,330.16	\$966.00	\$11,592.00	\$1,023.40	\$12,280.80	\$863.00	\$10,356.00
2.10.	Center Conference	Type H1 Fixture Conference Center – Lighting.	2	\$1,565.00	\$3,130.00	\$3,111.63	\$6,223.26	\$3,580.40	\$7,160.80	\$3,664.00	\$7,328.00	\$3,880.77	\$7,761.54	\$3,272.00	\$6,544.00
	i	Type H2 Fixture Conference Center – Lighting.	8	\$2,440.63	\$19,525.04	\$3,838.00	\$30,704.00	\$4,416.02	\$35,328.16	\$4,519.00	\$36,152.00	\$4,786.18	\$38,289.44	\$4,035.00	\$32,280.00
	1	Type J Fixture Conference Center – Lighting.	88	\$108.36	\$9,535.68	\$112.75	\$9,922.00	\$111.00	\$9,768.00	\$114.00	\$10,032.00	\$101.12	\$8,898.56	\$102.00	\$8,976.00
2.13	Center	Type K Fixture	28	\$247.50	\$6,930.00	\$265.52	\$7,434.56	\$268.38	\$7,514.64	\$275.00	\$7,700.00	\$244.45	\$6,844.60	\$246.00	\$6,888.00

1

Manatee County IFB #11-2455-OV Manatee Convention Center Electrical Renovation

Bid Item	Bid Section	Bid Item Description	Unit of Measure	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price
				Electrcial E Engerj		Mission Crit	ical Solutions	Henrequez Electric Corporation		WPCS International - Sarasota		Bay Area Electric, Inc.		Florida Power Solutions, Inc.	
		Conference Center – Lighting. Installation and electrical connections of all lighting devices													
2.14		indicated on Sheet E-2.2, testing.	1	\$23,430.00	\$23,430.00	\$44,599.00	\$44,599.00	\$18,573.00	\$18,573.00	\$91,282.00	\$91,282.00	\$68,976.00	\$68,976.00	\$129,690.00	\$129,690.00
	Conference	Conference Center – Lighting Control System, and Control Devices as indicated on Sheet E-		\$24.220.00	#2.4.220.00	.			.						
2.15	Center	2.2.	1	\$24,330.00	\$24,330.00	\$33,370.00	\$33,370.00	\$42,374.00	\$42,374.00	\$39,572.00	\$39,572.00	\$43,718.00	\$43,718.00	\$35,350.00	\$35,350.00
2.16	Conference Center	Conference Center – Wiring of each Control Circuit, and control devices as indicated on Sheet E- 2.2, termination to Lighting Control system, testing.	1	\$49,817.00	\$49,817.00	\$22,165.00	\$22,165.00	\$65,543.00	\$65,543.00	\$5,000.00	\$5,000.00	\$24,887.00	\$24,887.00	\$48,937.00	\$48,937.00
	Conference	 													
2.17	Center	Subtotal of Conference Center			\$194,718.26		\$208,537.49		\$260,208.53		\$253,758.00		\$269,054.64		\$320,848.00
2.1	Arena	Arena Lobby – Demolition. Removal of existing lighting	1	\$4,160.00	£4.1c0.00	\$14.71	\$14.71	\$5,695.00	ΦF COF 00	\$350.00	\$350.00	\$2,100.00	#0.400.00	\$7.40F.00	Ф7 405 00
3.1	Lobby Arena	indicated on Sheet E-3.1. Arena Lobby – Lighting.	1	\$4,100.00	\$4,160.00	Φ14.71	\$14.71	ა ნ,ნყნ.00	\$5,695.00	\$350.00	\$350.00	\$2,100.00	\$2,100.00	\$7,185.00	\$7,185.00
3.2	Lobby	Type B Fixture	20	\$236.50	\$4,730.00	\$443.82	\$8,876.40	\$503.59	\$10,071.80	\$506.00	\$10,120.00	\$536.17	\$10,723.40	\$452.00	\$9,040.00
3.2	Arena	Arena Lobby – Lighting.	20	Ψ230.30	Ψ4,730.00	Ψ-10.02	φο,στο. το	φοσο.σσ	Ψ10,071.00	φοσο.σσ	ψ10,120.00	φοσο.17	φ10,720.40	Ψ102.00	ψ0,040.00
3.3	Lobby	Type C Fixture	12	\$591.25	\$7,095.00	\$574.97	\$6,899.64	\$641.67	\$7,700.04	\$657.00	\$7,884.00	\$695.50	\$8,346.00	\$587.00	\$7,044.00
	Arena	Arena Lobby – Lighting.					}						 		
3.4	Lobby	Type E Fixture	4	\$93.25	\$373.00	\$91.02	\$364.08	\$101.26	\$405.04	\$104.00	\$416.00	\$109.78	\$439.12	\$93.00	\$372.00
3.5	Arena Lobby	Arena Lobby – Lighting. Type EX Fixture	6	\$99.00	\$594.00	\$100.13	\$600.78	\$95.94	\$575.64	\$98.00	\$588.00	\$103.99	\$623.94	\$88.00	\$528.00
	Arena	Arena Lobby – Lighting. Installation and electrical connections of all lighting devices indicated on Sheet E-3.2, testing.	1	\$8,160.00	\$8,160.00	\$35,985.00	\$35,985.00	\$5,662.00	\$5,662.00	\$45,576.00	\$45,576.00	\$56,186.00	\$56,186.00	\$73,627.00	
	1	Arena Lobby – Wiring of Lobby Restrooms Lighting and control devices and power packs for Lobby Restrooms as indicated on	_	444.704.00	*****							•			
3.7	Lobby Arena	Sheet E-3.2, testing. Arena Lobby –Lighting Control System and Control Devices as indicated on Sheets E-3.3, E-3.4,	1	\$11,594.00	\$11,594.00	\$88.07	\$88.07	\$1,303.00	\$1,303.00	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00	\$8,900.00	\$8,900.00
3.8	Lobby	and E-3.5.	1	\$107,600.00	\$107,600.00	\$79,622.00	\$79,622.00	\$99,586.00	\$99,586.00	\$93,194.00	\$93,194.00	\$103,352.00	\$103,352.00	\$89,560.00	\$89,560.00
3.9	Arena Lobby	Subtotal of Arena Lobby			\$144,306.00		\$132,450.68		\$130,998.52		\$163,128.00		\$192,770.46		\$196,256.00
] !	Arena Lighting – Demolition.]											
	i	Removal of existing lighting													
4.1	<u></u>	indicated on Sheet E-4.1.	1	\$2,341.00	\$2,341.00	\$1,368.00	\$1,368.00	\$10,708.00	\$10,708.00	\$2,475.00	\$2,475.00	\$9,000.00	\$9,000.00	\$9,832.00	\$9,832.00
4.2	Arena Lighting	Arena Lighting – Lighting. Type A Fixture	72	\$419.10	\$30,175.20	\$441.26	\$31,770.72	\$457.50	\$32,940.00	\$468.00	\$33,696.00	\$416.70	\$30,002.40	\$418.00	\$30,096.00

Manatee County IFB #11-2455-OV Manatee Convention Center Electrical Renovation

Bid Item	Bid Section	Bid Item Description	Unit of Measure	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price
	 			Electrcial E Engerj		Mission Critical Solutions		Henrequez Electric Corporation		WPCS Interna	tional - Sarasota	Bay Area Electric, Inc.		Florida Power Solutions, Inc.	
	Arena	Arena Lighting – Lighting.	İ								[
4.3	Lighting	Type B Fixture	24	\$423.50	\$10,164.00	\$424.29	\$10,182.96	\$457.50	\$10,980.00	\$468.00	\$11,232.00	\$416.70	\$10,000.80	\$418.00	\$10,032
	Arena	Arena Lighting – Lighting.													
4.4		Type C Fixture	72	\$449.90	\$32,392.80	\$466.26	\$33,570.72	\$487.93	\$35,130.96	\$500.00	\$36,000.00	\$444.45	\$32,000.40	\$446.00	\$32,112
		Arena Lighting – Lighting.													
4.5	Lighting	Type D Fixture	16	\$449.88	\$7,198.08	\$466.26	\$7,460.16	\$487.93	\$7,806.88	\$500.00	\$8,000.00	\$444.45	\$7,111.20	\$446.00	\$7,136
		Arena Lighting – Lighting. Installation and electrical													
	Arena	connections of all lighting devices indicated on Sheet E-4.2 and E-													
4.6	Lighting	4.3, testing.	1 1	\$31,500.00	\$31,500.00	\$52,381.00	\$52,381.00	\$95,950.00	\$95,950.00	\$46,000.00	\$46,000.00	\$48,760.00	\$48,760.00	\$56,761.00	\$56,761
4.0	Arena			ψ51,500.00	Ψ31,300.00	ΨΟΣ,ΟΟ 1.00	Ψ02,001.00	φου,ουσ.συ	ψου,σσσ.σσ	Ψ40,000.00	φ-10,000.00	ψ-10,7 00.00	ψ10,700.00	φου, το τ.σο	ΨΟΟ,7 Ο
4.7		Subtotal of Arena Lighting			\$113,771.08		\$136,733.56		\$193,515.84		\$137,403.00		\$136,874.80		\$145,969
4.7	Lighting	<	<u> </u>		\$113,771.00		\$130,733.30	 	Ψ100,010.04		Ψ137,403.00		Ψ130,074.00	 	Ψ140,000
	ļ	Exterior – Demolition. Removal						ļ							
		of existing lighting indicated on									<u> </u>	_			
5.1	Exterior	Sheet E-5.1.	1	\$2,475.00	\$2,475.00	\$362.00	\$362.00	\$3,273.00	\$3,273.00	\$750.00	\$750.00	\$4,000.00	\$4,000.00	\$4,368.00	\$4,368
	İ	Exterior – Lighting.						į			<u> </u>			İ	
5.2	Exterior	Type N Fixture	2	\$423.50	\$847.00	\$421.63	\$843.26	\$462.35	\$924.70	\$473.00	\$946.00	\$501.11	\$1,002.22	\$423.00	\$846
	İ	Exterior – Lighting.				i		į]			İ	
5.3	Exterior	Type P Fixture	15	\$327.80	\$4,917.00	\$324.97	\$4,874.55	\$356.19	\$5,342.85	\$365.00	\$5,475.00	\$386.10	\$5,791.50	\$326.00	\$4,890
		Exterior – Lighting.													
5.4	Exterior	Type Q Fixture	32	\$463.09	\$14,818.88	\$452.24	\$14,471.68	\$502.57	\$16,082.24	\$515.00	\$16,480.00	\$544.77	\$17,432.64	\$460.00	\$14,720
		Exterior – Lighting.													
5.5	Exterior	Type R Fixture and Base	1	\$2,437.00	\$2,437.00	\$2,305.00	\$2,305.00	\$2,648.42	\$2,648.42	\$2,944.00	\$2,944.00	\$2,870.73	\$2,870.73	\$2,420.00	\$2,420
	1	Exterior – Lighting.						!			!			ļ	
5.6	Exterior	Type S Fixture	8	\$695.75	\$5,566.00	\$705.00	\$5,640.00	\$756.31	\$6,050.48	\$774.00	\$6,192.00	\$819.79	\$6,558.32	\$692.00	\$5,536
		Exterior – Lighting.		ļ										į	
5.7	Exterior	Type T Fixture	12	\$238.67	\$2,864.04	\$223.97	\$2,687.64	\$280.94	\$3,371.28	\$246.00	\$2,952.00	\$259.84	\$3,118.08	\$239.00	\$2,868
		Exterior – Lighting.												į	
5.8		Type U Fixture	16	\$199.19	\$3,187.04	\$203.97	\$3,263.52	\$217.22	\$3,475.52	\$223.00	\$3,568.00	\$235.38	\$3,766.08	\$199.00	\$3,184
		Exterior – Lighting.		ļ				!			!			ļ	
5.9	Exterior	Type V Fixture	2	\$162.50	\$325.00	\$172.24	\$344.48	\$176.87	\$353.74	\$181.00	\$362.00	\$191.77	\$383.54	\$162.00	\$324
		Exterior – Lighting.													
5.10	Exterior	Type W Fixture	16	\$107.82	\$1,725.12	\$335.24	\$5,363.84	\$365.99	\$5,855.84	\$375.00	\$6,000.00	\$396.69	\$6,347.04	\$335.00	\$5,360
		Exterior – Lighting. Extension of Conduit/Conductor systems from Lighting Control Cabinet to the													
		service points on the exterior of		ļ				ļ						ļ	
5.11	Exterior	the Facility.	1	\$10,600.00	\$10,600.00	\$10,375.00	\$10,375.00	\$10,556.00	\$10,556.00	\$8,887.00	\$8,887.00	\$4,200.00	\$4,200.00	\$6,404.00	\$6,404
		Exterior – Lighting. Installation and electrical connections of all													
		lights indicated on Sheet E-5.2,			** a =					-		. -			_
5.12	Exterior	testing.	1	\$10,725.00	\$10,725.00	\$14,212.00	\$14,212.00	\$34,977.00	\$34,977.00	\$69,319.00	\$69,319.00	\$64,692.20	\$64,692.20	\$49,897.00	\$49,897

Bid Iten	Bid Section	Bid Item Description	Unit of Measure	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price
					Electrcial Engineering Engerprises		Mission Critical Solutions		Henrequez Electric Corporation		WPCS International - Sarasota		Bay Area Electric, Inc.		Solutions, Inc.
5.13		Conduit/Conductor systems to the exterior of the Facility to the Power locations (Outlets and Kiosks).	1	\$17,000.00	\$17,000.00	\$10,491.00	\$10,491.00	\$3,157.00	\$3,157.00	\$10,664.00	\$10,664.00	\$2,800.00	\$2,800.00	\$4,455.00	\$4,455.00
5.14	Exterior	Subtotal of Exterior			\$77,487.08		\$75,233.97		\$96,068.07		\$134,539.00		\$122,962.35		\$105,272.00
	† 	Discretionary Funds Total of Manatee Convenion Center Electrical Bid Package	1	\$50,000.00	\$50,000.00 \$593,966.62	\$50,000.00	\$50,000.00 \$685,117.99	\$50,000.00	\$50,000.00 \$737,209.82	\$50,000.00	\$50,000.00 \$743,118.00	\$50,000.00	\$50,000.00 \$794,181.01	\$50,000.00	\$50,000.00 \$826,071.00

* Item corrected in accordance with Article 829 - Mathematical errors in accordance with the Invitation for Bid.

An error on the Bid Form inaccurately transposing the

Mission Critical Total includes \$77.000 for Bonding not included above.

Bid Altern.	Bid Section	Bid Alternate Item Description	Unit of Measure	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price	Unit Cost	Extended Price
III	Arena	Lighting rigging and backbone for Arena West End Stage Location (Items 1-4) on Sheet E4.0, with all associated wiring		¢10.220.00	610 220 00	#0.712.00	20 740 00	¢12,400,00	\$40.400.00	#0.705.00	00.705.00	Ф22.00 с 00	# 00 000 00	ф12.502.00	010 500 00
	Arena	required. Arena Lighting – Theatrical Spot Lighting for Arena West End Stage Location (Items 1-3) on Sheet E-4.0, and Notes 2 and 3 on	1	\$10,320.00		\$8,712.00		\$12,490.00		\$9,795.00		\$23,086.00	\$23,086.00	\$13,503.00	
	Arena	Sheet E-4.2 and E-4.3. Arena Lighting – Addition of additional dimmable fluorescent fixtures, indicated Type CA, to be tied into existing light electrical services, installed as indicated on Sheet E-4.2 and E-4.3.	1	\$7,361.00 \$20,429.00		\$6,768.00 \$16,785.00		\$6,500.00 \$25,500.00		\$4,653.00 \$22,991.00		\$8,900.00 \$29,862.00	\$8,900.00 \$29,862.00	\$4,795.00 \$30,283.00	
		Total of Manatee Convenion Center Electrical Bid Alternates 4A1, 4A2, 4A3	1		\$38,110.00		\$32,265.00		\$44,490.00		\$37,439.00		\$61,848.00		\$48,581.00